Tone
Question 3(b) in the 2005 paper.










Explain how the writer creates a slightly humorous tone in lines 34 – 43.


















2 marks    A

Look at the following answers. Which candidate does best?

Candidate 1

Use of “being thumped on the head” creates a humorous tone as a comet would not just “thump” you. Also conjures up imagery of being hit on the head in an almost cartoon like way.


Candidate 2

The phrase “lucky “ enough to find themselves alive is humorous since it conveys a false fear in the creature, which expected so much that it would die, that a feeling of victory overcomes it. The inverted commas around “lucky” convey a hint of sarcasm that it is not really good fortune to wake up to such destruction, despite rejoicing at surviving.


Candidate 3

“being thumped over the head”

“thumped” – hit hard, informal, playful 

The informal language detailing a playful violence contrasts to the power and severity of the impact which is humorous.

“is not conducive to a long and happy existence”

This is humorous in that it would be impossible to live after such a force – and this suggests the impact of a comet is merely counter productive.


Candidate 4

The writer’s tone is humorous when he exclaims:


“being thumped on the head by a large object from space during the event is not…..a long happy existence.”

The use of the word “thumped” enables the reader to imagine the destruction and resulting loss of life. Furthermore it is humorous because you can’t be “happy” if you’re dead.


Higher English

Close Reading 1999 S.Q .A

Lines 58- 59

Love of reading led naturally, it seemed at the time, to efforts at writing. If books were not the most sought – after domestic adjuncts in our housing scheme ( depraved orgies of poetry readings behind closed curtains ),the desire to actually write poetry could have been construed as proof of mental aberration.

What is the tone of “ if books were not the most sought after adjuncts in our housing  schemes …? From the rest of the sentence select a feature of sentence structure or word choice which contributes to that tone and explain how it does so.

-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
It was only much later that I realised how different it might have   been for a working class boy with ambitions to write. A woman writer- friend told me some years ago of a man she knew who came from a background similar to my own. He was bedevilled by a longing to write plays,  much to the embarrassment of his relatives. On one occasion an older brother beat him up severely in an attempt to bring him to his senses and to get him to stop inflicting shame upon the family.

To what extent do you find the anecdote in lines 66 – 70 a suitable conclusion to this passage?

Justify your view by referring to the whole passage.

------------------------------------------------------------------------------------------------------

Survivors of essentially random impact catastrophes – cosmic accidents – were those creatures who just happened to be “lucky” enough to find themselves alive after the dust settled. It doesn’t matter how well a creature may have been able to survive in a particular environment before the event – being thumped on the head by a large object from space during the event is not conducive to a long and happy existence.











Word choice indicates tone





Use of inverted commas may indicate tone





Italics to indicate tone





Use of informal language to indicate tone








Irony contained in this phrase
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